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1 VIVALDI
CE2 103         + 122       = 225         CM1 159         - 56            = 103         CM2 196               : 2                   = 98                   

777         + 814       = 1 591      1 151      - 431         = 720         12                 x 137               = 1 644              

1 816      1 881      - 888         = 993         971               - 897               = 74                   

1 816      1 816              

2 KHAN
CE2 219         + 375       = 594         CM1 3 001      - 1 499      = 1 502      CM2 4 480            : 5                   = 896                 

2 364      + 3 251    = 5 615      3 717      - 1 848      = 1 869      19                 x 239               = 4 541              

6 209      4 148      - 1 310      = 2 838      4 786            - 4 014            = 772                 

6 209      6 209              

3 KANT
CE2 373         + 670       = 1 043      CM1 3 082      - 1 284      = 1 798      CM2 2 272            : 4                   = 568                 

1 532      + 4 218    = 5 750      3 567      - 238         = 3 329      33                 x 136               = 4 488              

6 793      2 864      - 1 198      = 1 666      5 192            - 3 455            = 1 737              

6 793      6 793              

4 BACH
CE2 461         + 511       = 972         CM1 850         - 182         = 668         CM2 3 928            : 4                   = 982                 

2 043      + 4 908    = 6 951      1 513      - 643         = 870         32                 x 214               = 6 848              

7 923      8 375      - 1 990      = 6 385      3 841            - 3 748            = 93                   

7 923      7 923              

5 HANNIBAL
CE2 398         + 605       = 1 003      CM1 946         - 124         = 822         CM2 594               : 2                   = 297                 

2 862      + 4 286    = 7 148      6 555      - 3 220      = 3 335      34                 x 112               = 3 808              

8 151      7 291      - 3 297      = 3 994      7 239            - 3 193            = 4 046              

8 151      8 151              

6 GANDHI
CE2 180         + 499       = 679         CM1 1 357      - 185         = 1 172      CM2 740               : 5                   = 148                 

1 346      + 3 987    = 5 333      3 065      - 707         = 2 358      18                 x 154               = 2 772              

6 012      2 844      - 362         = 2 482      5 262            - 2 170            = 3 092              

6 012      6 012              

7 VINCI
CE2 2 313      - 474       = 1 839      CM1 13 217    - 642         = 12 575    CM2 19 527         : 3                   = 6 509              

78 669    - 7 289    = 71 380    294         x 3              = 882         172               x 339               = 58 308            

73 219    61 822    - 2 060      = 59 762    54 838         - 46 436         = 8 402              

73 219    73 219            

8 VERDI
CE2 2 235      - 626       = 1 609      CM1 5 401      - 1 712      = 3 689      CM2 55 356         : 7                   = 7 908              

54 649    - 5 777    = 48 872    274         x 3              = 822         168               x 214               = 35 952            

50 481    47 917    - 1 947      = 45 970    49 848         - 43 227         = 6 621              

50 481    50 481            

9 PARKS
CE2 2 216      - 684       = 1 532      CM1 17 169    - 1 971      = 15 198    CM2 45 505         : 5                   = 9 101              

50 994    - 5 008    = 45 986    211         x 3              = 633         117               x 283               = 33 111            

47 518    32 599    - 912         = 31 687    21 399         - 16 093         = 5 306              

47 518    47 518            

10 CURIE
CE2 91 243    - 8 683    = 82 560    CM1 11 795    - 470         = 11 325    CM2 58 812         : 6                   = 9 802              

3 084      - 923       = 2 161      288         x 4              = 1 152      184               x 270               = 49 680            

84 721    74 205    - 1 961      = 72 244    30 784         - 5 545            = 25 239            

84 721    84 721            
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11 MANDELA
CE2 2 808      - 866       = 1 942      CM1 8 038      - 1 652      = 6 386      CM2 36 036         : 4                   = 9 009              

81 503    - 8 831    = 72 672    187         x 4              = 748         234               x 255               = 59 670            

74 614    68 004    - 524         = 67 480    35 425         - 29 490         = 5 935              

74 614    74 614            

12 BEETHOVEN
CE2 2 302      - 566       = 1 736      CM1 9 934      - 792         = 9 142      CM2 61 656         : 7                   = 8 808              

59 178    - 6 074    = 53 104    275         x 7              = 1 925      184               x 238               = 43 792            

54 840    46 486    - 2 713      = 43 773    18 032         - 15 792         = 2 240              

54 840    54 840            

13 NEWTON
CE2 549         x 2            = 1 098      CM1 1 384      - 324         = 1 060      CM2 7 202            : 6                   = 1 200,33        

15 866    - 1 492    = 14 374    53            x 76            = 4 028      35                 x 346               = 12 110            

15 472    13 692    - 3 308      = 10 384    3 188,81      - 1 027,14      = 2 161,67        

15 472    15 472            

14 CAPET
CE2 3              x 3 269    = 9 807      CM1 27 645    - 3 070      = 24 575    CM2 185               : 8                   = 23,12              

79 793    - 8 058    = 71 735    32            x 61            = 1 952      86                 x 297               = 25 542            

81 542    73 123    - 18 108    = 55 015    69 387,16    - 13 410,28    = 55 976,88      

81 542    81 542            

15 QUINT
CE2 236         x 5            = 1 180      CM1 13 420    - 1 586      = 11 834    CM2 9 820            : 9                   = 1 091,11        

91 033    - 9 752    = 81 281    48            x 68            = 3 264      45                 x 422               = 18 990            

82 461    91 381    - 24 018    = 67 363    76 367,26    - 13 987,37    = 62 379,89      

82 461    82 461            

16 PASTEUR
CE2 4              x 1 532    = 6 128      CM1 20 018    - 4 262      = 15 756    CM2 9 066            : 9                   = 1 007,33        

65 299    - 7 220    = 58 079    64            x 71            = 4 544      63                 x 419               = 26 397            

64 207    62 246    - 18 339    = 43 907    60 579,90    - 23 777,23    = 36 802,67      

64 207    64 207            

17 CHAPLIN
CE2 2 274      x 4            = 9 096      CM1 2 973      - 274         = 2 699      CM2 647               : 3                   = 215,66            

17 398    - 1 876    = 15 522    237         x 68            = 16 116    59                 x 286               = 16 874            

24 618    7 494      - 1 691      = 5 803      12 582,90    - 5 054,56      = 7 528,34        

24 618    24 618            

18 ARMSTRONG
CE2 4              x 3 481    = 13 924    CM1 18 571    - 3 728      = 14 843    CM2 6 103            : 7                   = 871,85            

56 553    - 5 628    = 50 925    456         x 35            = 15 960    22                 x 175               = 3 850              

64 849    48 258    - 14 212    = 34 046    64 429,05    - 4 301,90      = 60 127,15      

64 849    64 849            

19 LINCOLN
CE2 2 015      x 51         = 102 765  CM1 227 536  - 34 728    = 192 808  CM2 11 890         : 4                   = 2 972,50        

127 454  - 11 711  = 115 743  29            x 883         = 25 607    9,48              x 2 846,70      = 26 986,716    

218 508  186         : 2              = 93            191 660,05  - 3 111,266    = 188 548,784  

218 508  218 508         

20 CHOPIN
CE2 43            x 2 119    = 91 117    CM1 560 449  - 121 292  = 439 157  CM2 69 782         : 7                   = 9 968,85        

401 665  - 42 091  = 359 574  410         x 28            = 11 480    4,60              x 2 134,69      = 9 819,574      

450 691  162         : 3              = 54            442 745,65  - 11 843,074  = 430 902,576  

450 691  450 691         
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21 CHURCHILL
CE2 788         x 21         = 16 548    CM1 99 688    - 26 778    = 72 910    CM2 540 468       : 8                   = 67 558,50      

120 639  - 12 475  = 108 164  56            x 918         = 51 408    8,72              x 2 784,60      = 24 281,712    

124 712  1 970      : 5              = 394         36 599,17    - 3 727,382    = 32 871,788    

124 712  124 712         

22 ATAHUALPA
CE2 54            x 4 283    = 231 282  CM1 604 752  - 141 210  = 463 542  CM2 752 781       : 7                   = 107 540,14    

282 751  - 27 539  = 255 212  272         x 82            = 22 304    8,95              x 2 621,84      = 23 465,468    

486 494  1 944      : 3              = 648         427 617,27  - 72 128,878  = 355 488,392  

486 494  486 494         

23 EINSTEIN
CE2 2 517      x 34         = 85 578    CM1 651 621  - 160 832  = 490 789  CM2 426 381       : 7                   = 60 911,57      

480 628  - 49 690  = 430 938  605         x 42            = 25 410    5,8                x 2 860,6        = 16 591,48      

516 516  951         : 3              = 317         491 766,65  - 52 753,7      = 439 012,95    

516 516  516 516         

24 TROTSKI
CE2 53            x 4 301    = 227 953  CM1 509 557  - 9 794      = 499 763  CM2 767 173       : 6                   = 127 862,16    

391 604  - 37 988  = 353 616  826         x 98            = 80 948    5,55              x 2 936,8        = 16 299,24      

581 569  3 432      : 4              = 858         536 418,71  - 99 011,11    = 437 407,6      

581 569  581 569         

25 CLOVIS
CE2 134         : 2            = 67            CM1 926 193  - 221 953  = 704 240  CM2 420,122       : 4                   = 105,030         

82            x 8 638    = 708 316  13            x 283         = 3 679      6,52              x 31,7              = 206,684         

708 249  2 640      : 8              = 330         708 027,36  - 90,074         = 707 937,286  

708 249  708 249         

26 RAMSES II
CE2 1 180      : 5            = 236         CM1 171 845  - 30 395    = 141 450  CM2 305,183       : 6                   = 50,863            

72            x 2 260    = 162 720  787         x 26            = 20 462    4,25              x 49,9              = 212,075         

162 484  4 576      : 8              = 572         162 310,39  - 89,328         = 162 221,062  

162 484  162 484         

27 FRANCO
CE2 738         : 3            = 246         CM1 565 031  - 116 564  = 448 467  CM2 384,1            : 6                   = 64,016            

61            x 14 859  = 906 399  875         x 522         = 456 750  3,82              x 85,45            = 326,419         

906 153  7 488      : 8              = 936         905 995,10  - 232,535       = 905 762,565  

906 153  906 153         

28 FRERES LUMIERE
CE2 144         : 4            = 36            CM1 212 627  - 56 955    = 155 672  CM2 218,726       : 3                   = 72,908            

73            x 2 993    = 218 489  107         x 579         = 61 953    9,47              x 56,8              = 537,896         

218 453  7 452      : 9              = 828         218 329,52  - 487,324       = 217 842,196  

218 453  218 453         

29 MAGELLAN
CE2 7 060      : 5            = 1 412      CM1 220 992  - 65 131    = 155 861  CM2 394,915       : 8                   = 49,364            

85            x 2 861    = 243 185  252         x 338         = 85 176    8,8                x 77,07            = 678,216         

241 773  5 888      : 8              = 736         241 131,7    - 86,28            = 241 045,42    

241 773  241 773         

30 MOZART
CE2 9 305      : 5            = 1 861      CM1 853 574  - 170 901  = 682 673  CM2 794,803       : 4                   = 198,700         

83            x 10 214  = 847 762  231         x 704         = 162 624  4,8                x 39,9              = 191,52            

845 901  4 832      : 8              = 604         845 802,88  - 292,100       = 845 510,78    

845 901  845 901         
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